
Corso di Laurea in Fisica 

 

A.A. 2014/15 

 

Meccanica 

 

Prova scritta – 24/03/2015 

 

 

Problema 1 

 

( )
[ ]

2 2 2 2 2 2 2 2

ˆ

ˆ

ˆ ˆcos sin
2 2

ˆ ˆ ˆ ˆˆ sin cos cos sin

ˆ ˆcos sin

cos sin 2 sin

P O rot

O

rot P

P

rot

P

P

gt

R t R t

R t R t R t R t

R t R t gt

v R t R t Rgt t g t

ω

π π
ω ω

ω ω ω ω ω ω

ω ω ω ω

ω ω ω ω ω ω

= +

=−

= ×

=

     = + + +       

 → = × − + = − −  

→ =− − +

→ = + + +

v v v

v j

v ω r

ω k

r i j

v k i j i j

v i j

2 2 2 2

2

2 sin

1 2 2 2

2 2 2

P
v R g t Rgt t

h h T h
h gT T T N

g g g

ω ω ω

ω ω
θ ω ω

π π

→ = + +

= → = → = = → = =
 

 

 

 

 

 

 

 

 

 

 

 



Problema 2 
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Vel. di regime: 
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Problema 3 
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Cons. mom. angolare:

 

Cons. energia:
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